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I 'mmwn: the five pwmn
a 71 eating NN nnn, including 70, 7WYN NMAN (certain and *XnT) , YN & DN
i Q(~7): why add wmn to n"n of '8nT — did 1127 strengthen their own enactments nmn Yw3?
1 Answer (5811v): follows n™ — 17N YW DAMATY PION WY 0NN
(a) Proof: his position in re: V3 brought from »nn, given without declaration of 17911 1”92 — child is 7mn
(b) Challenge (nww “7): n" rules that w”yn of '8NT may be redeemed from o3 onto nwiny, even though if re-
deeming w”yn of 1v, it may not be redeemed qo3> onto nwIN1 (except in exigent circumstances)
(i) Answer (901 77): although n™ is lenient vis-a-vis 1719 (distinguishing between &n»11xT and 13217), he
is stringent in re: eating (if one ate, even »RnT YW N"IN, must pay wmn)
(if) Support: n™ only allows a wholesaler (who, as everyone knows, receives his goods from a range of
suppliers, including yIxn ) to sell without separating '8n7 (0'nan allow any reseller to do so)
(c) Challenge (»237): n"1 allows separation of n"in when taking from a baker (yarn oy - '&nT), from cold
bread (inferior) for hot bread and from one tray on another
(i) Inferior: is understood, as per 'RY?R *1’s MW7 on v. 1 — giving inferior nm N must be valid, else how
could it be considered a xon
(if) Several trays: aren’t we concerned that he will separate from 2vnn %» 7108 or vice-versa?
1. Answer (7728): R"'s question (above) is solid; YR1nW’s response (above) is poor:
a. Explanation: R asked about nnw »pa nnon; YRNw’s answer, that n™ is stringent (WY 0NN
...0N127% Pirn) in case of WR NWR, which is a 772 nnPn 21N, where stringency is called for
b. And: nvw "1’s challenge (above) is also weak; n™ is lenient in re: a WY (v. 2), neither an-
swers the question about ©'nw *11 nnn nor refutes the challenge from 772 nnn
c.  However: Ry17, instead of challenging from baker, should prove the point from the paral-
lel ruling about a bread retailer (10%9):
i. 7059 ™ rules that if he is an 1"y, NN must be taken from each tray
ii.  Reason: a 1058 buys bread from several bakers; baker gets his dough from 1 supplier
2. Defense (827): YR1MW’s question is solid — "nn n” (1”2 nnon & w”an) is a single category
Redeeming his own v”yn and 21 »o1 (as per n"1)
Redeeming his own v1pn
n%yn payment
non followed by a 7pw nyaw that he didn’t steal
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